
Year 8 Summer 1 Knowledge Organiser 

Unit 10: Ratio reviewUnit 11: Rates of change



Year 8 Summer 1 Knowledge Organiser 

Unit 12: Direct and inverse proportion

The below table is an example of an 
inversely proportional relationship. 
As one quantity increases, the other 
decreases. Notice that each row has 
a product of 96.

The gradient of the blue graph is the 
reciprocal of the orange graph. Look at the 
axes and see if you can work out why.
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Quiz 1 Quiz 2

Quiz 3 Quiz 4

Week 1 – Ratio review (clip 333) 
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Quiz 1 Quiz 2

Quiz 3 Quiz 4

Week 2 – Real life graphs (clips 894 and 897) 
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Quiz 1 Quiz 2

Quiz 3 Quiz 4

Week 3 – Flow graphs (clip 899) 
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Quiz 1 Quiz 2

Quiz 3 Quiz 4

Week 4 – Converting length, mass and capacity (clip 692, 695 and 698) 
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Quiz 1 Quiz 2

Quiz 3 Quiz 4

Week 5 – Direct proportion (clip 339 and 340) 
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Quiz 1 Quiz 2

Quiz 3 Quiz 4

Week 6 – Inverse proportion / Speed (clip 342 and 716) 


